1000 <Ht < 1500 GeV

N, Ny M, [GeV] Z—vv Lost lepton Multijet Total background Data
200 — 400 24 £2(stat.) +7(syst.) 18 *4(stat ) 2(syst.) 1.6 £0.1(stat.) +0.8(syst.) 44 +4(stat.) £8(syst.) 48
400 — 600 6.7 T07(stat.) £2.1(syst.) 2.9 +0 (’(stat ) £0.5(syst.) 0.02 £0.01(stat.) £0.02(syst.) 10 +1(stat.) £2(syst.) 18
2 -3j,0b 600 —800 | 2.4 40.2(stat.) +0.9(syst.) 0.8 +Uz(stat ) £0.2(syst) | 0.00 £0.00(stat.) £0.00(syst.) | 3.2 +0.3(stat.) +0.9(syst.) 4
800 — 1000 | 1.4 +0.1(stat.) +0.6(syst.) 0.3 £0.1(stat.) £0.1(syst.) | 0.00 £0.00(stat.) £0.00(syst.) | 1.7 *33(stat.) +0.6(syst.) 0
> 1000 0.5 fgf,(stat) +0.3(syst.) 0.1 £0.0(stat.) £0.1(syst.) 0.00 £0.00(stat.) £0.00(syst.) | 0.7 +0.1(stat.) -0.3(syst.) 1
200 — 400 3.8 Ta(stat.) £1.2(syst.) 0.9 T2(stat.) £0.2(syst.) 0.5 £0.0(stat.) £0.3(syst.) 5.3 TT7(stat.) T13(syst.) 10
2-3j1b 400 — 600 1.0 +£0.3(stat.) £0.4(syst.) 0.2 +°2(stat ) £0.1(syst.) 0.01 £0.00(stat.) £0.01(syst.) | 1.2 T)3(stat.) £0.4(syst.) 0
600 — 800 0.4 40.1(stat.) £0.2(syst.) 0.0 fg_g](stat) +0.0(syst.) 0.00 £0.00(stat.) £0.00(syst.) | 0.5 £0.1(stat.) 4-0.2(syst.) 1
> 800 0.3 40.1(stat.) £0.2(syst.) 0.03 *8 8%(stat ) £0.02(syst.) | 0.00 +0.00(stat.) £0.00(syst.) | 0.4 +0.1(stat.) +-0.2(syst.) 0
232 200 — 400 0.9 03 (stat.) +05(syst) 0.3 05 (stat.) £0.1(syst.) 0.1 +0.0(stat.) +0.1(syst.) 1.3 Tl (stat) F05(syst) 0
! > 400 0.5 "p3(stat.) Toa(syst.) 0.1 to‘z(stat ) £0.0(syst.) 0.00 +£0.00(stat.) £0.00(syst.) | 0.6 fof(stat ) Foa(syst) 0
200 — 400 35 +3(stat.) =11(syst.) 33 +4(stat.) +4(syst.) 14 £1(stat.) £6(syst.) 82 £5(stat.) £13(syst.) 74
400 — 600 9.0 *08(stat.) £2.8(syst.) 4.6 T08(stat.) £0.8(syst.) 0.2 +0.1(stat.) £0.1(syst.) 14 +1(stat.) £3(syst.) 15
4 —6j, 0b 600 — 800 3.1 5 (stat.) £1.1(syst.) 1.1 £0.1(stat.) £0.3(syst.) 0.01 T0%2(stat.) £:0.01(syst.) | 4.2 £0.3(stat.) £1.2(syst.) 4
800 — 1000 | 1.2 £0.1(stat.) +0.5(syst.) 0.4 01 (stat.) £0.2(syst.) 0.00 {00 (stat.) £0.00(syst.) | 1.6 £0.1(stat.) £0.5(syst.) 1
> 1000 0.4 0.0(stat.) £0.2(syst.) 0.1 £0.0(stat.) £0.1(syst.) 0.00 *8 8(1](stat) +0.00(syst.) 0.5 £0.0(stat.) £0.2(syst.) 0
200 — 400 7.2 13 (stat.) T23(syst.) 8.7 T23(stat.) +£1.2(syst.) 5.1 03 (stat.) £2.2(syst.) 21 *3(stat.) £3(syst.) 21
4—6j1b 400 — 600 1.8 jgg(stat ) £0.6(syst.) 1.0 +gg(stat ) £0.2(syst.) 0.1 +0.0(stat.) +0.1(syst.) 29 +g§(stat ) £0.7(syst.) 3
600 — 800 0.7 £0.1(stat.) 0.3(syst.) 0.3 +£0.1(stat.) £0.1(syst.) 0.00 F00(stat.) +:0.00(syst.) | 0.9 *{*(stat.) +:0.3(syst.) 1
> 800 0.3 fgf)(stat.) +0.2(syst.) 0.2 £0.0(stat.) £0.1(syst.) 0.00 £0.00(stat.) £0.00(syst.) | 0.4 +0.1(stat.) -0.2(syst.) 1
200 — 400 0.9 T07(stat.) £0.4(syst.) 6.3 T2 (stat.) £0.9(syst.) 1.5 +0.1(stat.) +0.8(syst.) 8.7 T22(stat.) £1.3(syst.) 7
4—6j,2b 400 — 600 0.3 F0%(stat.) £0.1(syst.) 0.6 T04(stat.) £0.2(syst.) | 0.02 +:0.01(stat.) +0.02(syst.) | 0.9 +°3(stat ) £0.2(syst.) 2
> 600 0.2 +0.1(stat.) +0.1(syst.) 0.2 +0.1(stat.) +0.1(syst.) | 0.00 +£0.00(stat.) £0.00(syst.) | 0.4 +0.1(stat.) +0.2(syst.) 1
200 — 400 6.7 T15(stat.) T3 2(syst.) 11 +3(stat.) £1(syst.) 3.9 +£0.3(stat.) £1.7(syst.) 21 Ti(stat.) £4(syst.) 12
> 7}, 0b 400 — 600 1.6 t“_“(stat) +0.9(syst.) 1.3 T4(stat.) £0.3(syst.) 0.1 +0.0(stat.) +0.0(syst.) 3.0 +06(stat) +1. 0(5y5t) 4
> 600 0.4 +0.1(stat.) +0.3(syst.) 0.3 +0.1(stat.) +0.2(syst.) 0.00 F%1(stat.) +0.00(syst.) 0.8 to_z(stat ) F03(syst.) 1
200 — 400 1.5 08(stat.) T05(syst.) 5.4 T1%(stat.) £0.8(syst.) 2.0 £0.1(stat.) +1.0(syst.) 8.9 T18(stat.) £1.5(syst.) 11
>7,1b 400 — 600 0.4 F02(stat.) +£0.2(syst.) 0.7 £0.2(stat.) £0.2(syst.) | 0.03 £0.01(stat.) £0.02(syst.) | 1.1 T03(stat.) £0.3(syst.) 2
> 600 0.1 +0.1(stat.) +0.1(syst.) 0.1 +0.0(stat.) +0.0(syst.) | 0.00 +£0.00(stat.) +£0.00(syst.) | 0.2 +0.1(stat.) +0.1(syst.) 1
> 7,2 200 — 400 0.3 707 (stat.) £0.2(syst.) 4.3 713 (stat.) £0.6(syst.) 0.6 £0.0(stat.) £0.3(syst.) 5.1 113 (stat.) £0.7(syst.) 2
= > 400 0.1 £33 (stat.) F09(syst.) 0.3 iO 1(stat.) £0.1(syst.) | 0.01 £0.00(stat.) £0.01(syst.) | 0.4 t“_z(stat) +0.2(syst.) 0
2-6,> 3 200 — 400 0.0 05 (stat.) £0.0(syst.) 0.4 03 (stat.) £0.1(syst.) 0.2 £0.0(stat.) £0.2(syst.) 0.6 T O(stat.) £0.2(syst.) 1
'= > 400 0.0 0 (stat.) £0.0(syst.) 0.1 +£0.1(stat.) £0.0(syst.) | 0.00 £0.00(stat.) £0.00(syst.) | 0.1 0 2(stat ) £0.0(syst.) 0
>7,>3b 200 — 400 0.0 +gg(stat ) £0.0(syst.) 1.0 T3 (stat.) £0.2(syst.) 0.2 +0.0(stat.) +0.2(syst.) 12 +04(stat ) £0.3(syst.) 0
- > 400 0.00 092 (stat.) +0. 00(syst.) 0.1 £0.0(stat.) £0.1(syst.) 0.00 £0.00(stat.) £0.00(syst.) | 0.1 +0.0(stat.) 4-0.1(syst.) 0




